A

REMARKE 6T H1033% i

A
7

NEEmENSIETE

T
L

L¥¢EL I H [_HU.W] .D.,lLH
™ il = D100 HE EE =
@ D E |J__= o=
mﬁ_ﬂlj. mini|m miGE; 2x —
MD =) m | mmeﬁ mid ﬁwm
S st (£ ot 2
o CHE R s | | [glm =
@ $| Lr £l 0 S [ e
0| = S
s ] Cl /I\— " g
SHwisisimile 5 DL ] MSM g1 =
[ ]
il @% E ®lO|K
m% u - SF| i =41 i
o S |
— e R e e e ﬁﬁ
d A0 (O= ) Bl EING
[ almij e, = @j DD._._.W B |l |~
ani|nmiain “lE| W o
JH i ] IERIN r f1l T _u_HR
DR COBOUR = mim = mafiwsmz | i n mi sy K N A O
A (D O] ) (= L7 [ ST R (| (e
H_M T e L E RS ST T | e | oF | e
NS H miunfiemjine misisyisick 4P YPAE-
m S EO R T | A | |
mem_ Dﬁﬁm_ i L PD — Gi. Ij =
O 0 L] T £ Cl | [
n, mi ma | 9 1 mi|mimi = |
i) SARE e e Rt ] g i el =i ma
ﬂD - = LIE] L] (] T (O
= _ ] Em.ﬁ_ - =
- 1 “_"_H_.EHH.B 1 ] g/ =
cl EWE mum gy ‘@M
S ) (LD A0V (PN (70 O
/n D Dl D@l DDJ qu
! L i 3
1 T o
(] i, 5
b
miwl]s
-; |
[] 2
L]
SE=
=




T E K

S=1/200

u,mm

BMIASRZI]T N-1X ROFERTBI N1

5000

27000

5000

5000

5000

5000

5000

A ARSI T

N FERZRT N=HE

inlinl

nliml

42

B E hIRIE RN EEERE
IE8% | CEEMENRETIS

MEZ#H | FEE

HEES 2/4 | #ER | 1/200 | Zs% | R3. 11
E x E

E x i3 £t




B E 1
FEMAARERACHAT  S=1/100 u;mm

7000

27000
6000 5000 5000 5000 6000
500
ﬂ_{f
o
S
it e i ! I O O o I O 1 I O O O O I  —ts
= e e e e e e [ e e e e e T —
3
1 D
- \d
&<
4— BFERIED
3
N
3 2458 B
N
I s = I o O | ! O O O s N X ‘
o = e e e e e & e o t/i |y ‘
S
\ BRI A
BAR 1ZE/ %8 NI HO1%E/ X RM (NI&) BT 1%E/ M NI&) HEIE
120 x 90 x 7000 180 x 240 x 27000 60 x 60 x 27000 Ta _
o (6006<+500())<x3+6000) (6000 x 2+5000 X 3) -BAERIEL< A Ly IACQ (K4) EAZ150kg/m3ULET B,
CERY+TL—F—mMI LT D,
BA 1Ze/ %% (NTR) BF 1ZE/ 54 (NTR)
120 x 90 x 7000 60 x 60 x 27000
o3, (6000 x 2+5000 x 3) ‘
[aN] X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X X o
g | | 1§,
L ted
Hr 1EE/ M (nT&) RUFERZBRISE
180 x 240 x 27000
(5950+5000 X 3+6050)
NUFERKET  S=1/25 u;mm
BiR 1ZE/ %4 NTR)
90 x 40 x 1810
‘ 1810 ‘ (1810x2)
\ \
- B 1%t/ EH (NT&) | 1810 |
90 x 40 x 800 \ |
(800 % 2)
100 x 40 x 800 S \ |
(800 x 14)
S N_AEBOD & 3% Y am
° B 1%E/ &8 (NTH) (&)
90 x 40 x 880 2= ho mm 3 s
(680 x2) EEEMREBREEEHE
1 TEELM | rEEMBENSUEIE
MEL#H | #FEX
YEREIE - = = = ETT
3/4 R B R3. 11
- BHREHIE A R Ly VSAC (K4) SEARI50ke/m3Llb&F 5. ,E%F \ / | %”m %2 |
CERY+TL—F—MIET S, = x # B
K iy iy B




maaE X 2

PEREER A S=1/16 u;mm

Tyt M0
BA 1%Ec/%# 0TS 120x90 AR Wb M10x 120 BA 1%E/%# (INT)120x90
L-6 X 65 X 65

L-6 x 65 % 65
— AN

FFtyt M10

a-F+ Wb M10x 90

240

i 1EE/ %8 T EH) 180x240

Hr 1EE/ %8 (DT &) 180x240

180

PESEER B S=1/16 u;mm

BAK 1%b/%# (NIT&) 120x90
HBA 1%E/FH (NI &) 12090 L—6 X 65 x 65 AR W M0 %120

L-6 x 65 % 65

FB 100 x 480 x 45t

ZH LH It M6 x 420 -3 bb M10x 90
FB 100 x 480 x 45t 2R CH b M6 x 420
© ‘
8 - g
FNfh bh M0x 120 _
g S
~ E e

M 1%/ ®H (DT &) 180x240

180 Hi 1%/ %% (NT&H) 180x240

\ N 2-F4 bb M10x 90
BEREA

[Z£X]

HAEMIRE BRI A EEEKS

S T THAH | AEEHENRETS
G A B B HEA | HER 2
2l i REES | 44 [@mR| 116 | R R0
106 12 B I = =
X SAFH  EBEHA v 5 = = s




